=
<

El )
= 8
< °
~6/ o]
1072 :
1072 I
o 14 ol 03 — . I L
= =14F
© 1.05 ] F
04 @ r
1= 1.2
0.95 1 W S N e
Q
107 1 10 0? - 10° 107 1 10 0? - 10°
TP, (PCA t% beamliné TP, (PCA t% beamliné
—=— DQM _CKF TTbase
—— DQM_CKF_TT_retrainOldFiles113
—+— DQM_CKF_TT_retrainOldFiles125_v2
= IS
2 =
> >
2 =2
5 ©
107t
L
.9101%: 1 T ul 1 N 1 o - |
% 105:_ T 4 I HE NS a r :r
o E hil T o [. 1 1 0 e
AT - [ T4
0.95F -4+ e A - freeeneenans r. S U 1 R A
oF Tl - Tl .
107 10 1 10 02 . 10°
TPp, (PCA tlo beamline
~ 1
o [
= L.
o
o -
5

N I R
[ndd 1:—' + Ak 1»‘";" I """"""
0.95F- HEHE - e
E Ut UUTLE
0'“-—1 ' ' " 3
10 1 TPl[:g)T (PCA t%)obeamlin%)o



	Contents
	Page 1


